S VAN e
%L %L WC&=’4’>=%
R L e aG)=1
M 1 q
M) = m\—%(m)\”'h-c}

x>y X>6
4l - ALx=6)

XS > X>g

EY@==*K\

X2y = &>Q
> Qk—i\»)

1L~
ETw O %\4( @L\“q(%

3, Uy 36
w () = ,\_1*(—0—\+ T\—(, o
P4
K2y = q(’(’cz—
[l 3~ 5—\+2(x—33 \' L
Qg o o Sl
3 \ SR
\x;(u'ﬂr):[&-“r% < 2’% o FEEe el
L TR
(e(x:(g)-:_ '5—-—2—/'\’2,-5 = EI

e— LMWV LGRY
e T

Mol
- w = ="
X——/—@—I#—)f Px=0G)=T
@
G -6
SHp i = 0 ®Y

12 w%@ 3%
i ; A6 ze=0
{2
K =P= 34+ %_-@-L-'LH%@ EIGRED

RETANCIA

e LAl G ESE
1= 6o (o"\o('mw»q € - Uo6Pa
IR

e b s pdidle

A
- —J_’_———-—‘—"’
210-10" - 160" 10 -

L il _ 0,088%" ‘o "'A
§8,95 16 “xadl




2 N Qebsdd

—9% /\*\,\ N weh=t
L | & ’
6 ;Llfi*&’__* QL=

e -G |36~ 40

X>9 XY

o _alx-) | 1 4 (x-Y)

ETw" QL\&)\ : \K>'~1 . \01_

= Vi =

5

= T x> 7Y N

o\ g’ ey

G‘:w‘-‘/cl:" C."\* QB‘Z'; \_ [ \L7\1 2
wle=0y => (=0

] R i (301\5 3= (L-‘i>
QI“U(JJ = K \y\>‘\ Tz K?Lf‘

9 = CK‘H)L
S N
&ﬂz 7! LL?LT

€Ew\(x) = 3 ,\‘L\l

&8

\x)(g“ 45~},(,”+% SIS -GN A TR e Lﬁ%"" S
= e ! 63 x SSM:S{?;&&‘K
P\ i %,L'L:3§> W = LY o -c"olosy} :
whe)= BT ol l 21010 1810

§-16 xadl

Alo 2 -~
T

T



Zé e Uebed %g N
Bl s

e = & el weD=T

R 30\’2‘:’(\%, (f(x:Q\J W Q=6 = ¢

—ﬁizf:z: el
e N -
@ = : \X?B \ x> b
W" BT i o
= 2 2 CL%\L
= e (=D)gih
) +27: A

el
@:’) M W e _i\ 22 4
] ¥
= M(x=P= i} o (K_B)'b(o O‘( -6)°
%__.l.‘,z*}qu')‘{" ET/‘\N:Q’\'C\}(\E%\*’Z,@‘ \— b
oy % ST
g?oQ 1\23(‘1*33“ ~
T = & \X)L»-—OB =0 = C?/:D
% - 436 (w30 ue0)-0 = (420
12 = S5 A I > E (e
Wb =23\ ” ﬂb \—Y = (3) k>§ ol
g : oy ;Q‘t 0 >SS VoL (X—6)
V()= TALp% 50 C 826 = 0 @M:L(}ﬁ:«{mp&L* =
T= %o, A*X”%$€zl%6h& A sl 5 ’LLOB -
o Aokt g fodan N e
W o5 mw—" R L‘°+3L‘ =1 /J_/(E:,
UO\(L\—_ — %—/ + Z"&%:‘ O




